



The Multivariable H -Function and the General Class of Srivastava Polynomials Involving the Generalized Mellin-Barnes Contour Integrals

Jitendra Daiya^a, Jeta Ram^a, Dinesh Kumar^{b,c}

^aDepartment of Mathematics and Statistics, Jai Narain Vyas University, Jodhpur–342001, India

^bDepartment of Applied Sciences, Pratap University, Chandwaji, N.H. 8, Jaipur-303104, India

^cDepartment of Mathematics & Statistics, Jai Narain Vyas University, Jodhpur–342005, India

Abstract. In the present paper, we study and develop the definite integrals of Gradshteyn -Ryzhik given by Qureshi et al. [3]. The results are in general character and besides of this have been put in a compact form avoiding the occurrence of infinite series and thus making them useful in applications. Several other new and known results can also be obtained from our main theorems.

1. Introduction and Preliminaries

The multivariable H -function is defined and studied by Srivastava & Panda [12, p. 271, Eqn. (4.1)] in term of a multiple Mellin-Barnes type contour integral as

$$\begin{aligned}
 H[z_1, \dots, z_r] &= H_{p,q}^{0,n;m_1,n_1;\dots;m_r,n_r} \left[\begin{matrix} z_1 \\ \vdots \\ z_r \end{matrix} \middle| \begin{matrix} (a_j; \alpha'_j, \dots, \alpha_j^{(r)})_{1,p} : (c'_j, \gamma'_j)_{1,p_1} ; \dots ; (c_j^{(r)}, \gamma_j^{(r)})_{1,p_r} \\ (b_j; \beta'_j, \dots, \beta_j^{(r)})_{1,q} : (d'_j, \delta'_j)_{1,q_1} ; \dots ; (d_j^{(r)}, \delta_j^{(r)})_{1,q_r} \end{matrix} \right] \\
 &= \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \phi(\xi_1, \dots, \xi_r) \left\{ \prod_{i=1}^r \theta_i(\xi_i) z_i^{\xi_i} \right\} d\xi_1 \dots d\xi_r, \tag{1}
 \end{aligned}$$

where $\omega = \sqrt{-1}$; and

$$\phi(\xi_1, \dots, \xi_r) = \frac{\prod_{j=1}^n \Gamma(1 - a_j + \sum_{i=1}^r \alpha_j^{(i)} \xi_i)}{\prod_{j=n+1}^p \Gamma(a_j - \sum_{i=1}^r \alpha_j^{(i)} \xi_i) \prod_{j=1}^q \Gamma(1 - b_j + \sum_{i=1}^r \beta_j^{(i)} \xi_i)}, \tag{2}$$

2010 Mathematics Subject Classification. 26A33, 33C45, 33C60, 33C70.

Keywords. Multivariable H -function, definite integrals, general class of polynomials.

Received: 20 April 2014; Accepted: 10 September 2014

Communicated by Hari M. Srivastava

The corresponding author: Dinesh Kumar

Email addresses: jitendra.daiya25@gmail.com (Jitendra Daiya), bishnoi_jr@yahoo.com (Jeta Ram), dinesh_dino03@yahoo.com (Dinesh Kumar)

$$\theta_i(\xi_i) = \frac{\prod_{j=1}^{n_i} \Gamma(1 - c_j^{(i)} + \gamma_j^{(i)} \xi_i) \prod_{j=1}^{m_i} \Gamma(d_j^{(i)} - \delta_j^{(i)} \xi_i)}{\prod_{j=n_i+1}^{p_i} \Gamma(c_j^{(i)} - \gamma_j^{(i)} \xi_i) \prod_{j=m_i+1}^{q_i} \Gamma(1 - d_j^{(i)} + \delta_j^{(i)} \xi_i)} \quad (i = 1, \dots, r); \tag{3}$$

and $\mathcal{L}_j = \mathcal{L}_{\omega\tau_j, \infty}$ represents the contours which start at the point $\tau_j - \omega\infty$ and terminate at the points $\tau_j + \omega\infty$ with $\tau_j \in \mathbb{R} = (-\infty, \infty)$ ($j = 1, \dots, r$).

In case $r = 2$, (1) reduces to the H -function of two variables.

For a detailed definition and convergence conditions of the multivariable H -function, the reader is referred to the original paper by Srivastava and Panda [12], Srivastava et al. [11], Saxena et al. [7], Saigo and Saxena [5], and Saigo et al. [6].

From Srivastava and Panda [13, p. 131], we have

$$H[z_1, \dots, z_r] = O(|z_1|^{e_1} \dots |z_r|^{e_r}) \left(\max_{1 \leq j \leq r} \|z_j\| \rightarrow 0 \right), \tag{4}$$

where

$$e_i = \min_{1 \leq j \leq m_i} \left[\frac{\operatorname{Re}(d_j^{(i)})}{\delta_j^{(i)}} \right] \quad (i = 1, \dots, r). \tag{5}$$

For $n = p = q = 0$ the multivariable H -function breaks up into product of ' r ' H -functions and consequently there holds the following result:

$$H_{0,0;p_1,q_1;\dots;p_r,q_r}^{0,0;m_1,n_1;\dots;m_r,n_r} \left[\begin{matrix} z_1 \\ \vdots \\ z_r \end{matrix} \middle| \begin{matrix} (c'_j, \gamma'_j)_{1,p_1} ; \dots ; (c_j^{(r)}, \gamma_j^{(r)})_{1,p_r} \\ (d'_j, \delta'_j)_{1,q_1} ; \dots ; (d_j^{(r)}, \delta_j^{(r)})_{1,q_r} \end{matrix} \right] = \prod_{i=1}^r H_{p_i,q_i}^{m_i,n_i} \left[z \middle| \begin{matrix} (c_j^{(i)}, \gamma_j^{(i)})_{1,p_i} \\ (d_j^{(i)}, \delta_j^{(i)})_{1,q_i} \end{matrix} \right], \tag{6}$$

where $H_{p,q}^{m,n}(\cdot)$ is the familiar H -function.

A general class of multivariable polynomials of real or complex variables $S_{n_1, \dots, n_r}^{m_1, \dots, m_r}(x)$ is defined and studied by Srivastava [10] in the following form (also see, Kumar and Daiya [1]):

$$S_{n_1, \dots, n_r}^{m_1, \dots, m_r}(x) = \sum_{k_1=0}^{[n_1/m_1]} \dots \sum_{k_r=0}^{[n_r/m_r]} \prod_{i=1}^r \frac{(-n_i)_{m_i k_i}}{k_i!} A_{n_i k_i} x^{k_i}, \tag{7}$$

where $n_1, \dots, n_r = 0, 1, 2, \dots$; m_1, \dots, m_r are arbitrary positive integers, the coefficients $A_{n_i k_i}$ ($n_i k_i \geq 0$) are arbitrary constants real or complex.

Results required in the sequel:

For $a > 0$; $b \geq 0$; $c + 4ab > 0$; $\Re(\rho) + 1/2 > 0$ the following formulas is defined by Qureshi et al. [3, p.77, Eqn. (3.1)-(3.3)].

$$\int_0^\infty \left[\left(ax + \frac{b}{x} \right)^2 + c \right]^{-\rho-1} dx = \frac{\sqrt{\pi}}{2a(4ab+c)^{\rho+\frac{1}{2}}} \frac{\Gamma(\rho + \frac{1}{2})}{\Gamma(\rho + 1)}. \tag{8}$$

For $a \geq 0$; $b > 0$; $c + 4ab > 0$; $\Re(\rho) + 1/2 > 0$,

$$\int_0^\infty \frac{1}{x^2} \left[\left(ax + \frac{b}{x} \right)^2 + c \right]^{-\rho-1} dx = \frac{\sqrt{\pi}}{2b(4ab+c)^{\rho+\frac{1}{2}}} \frac{\Gamma(\rho + \frac{1}{2})}{\Gamma(\rho + 1)}. \tag{9}$$

For $a > 0; b > 0; c + 4ab > 0; \Re(\rho) + 1/2 > 0$,

$$\int_0^\infty \left(a + \frac{b}{x^2}\right) \left[\left(ax + \frac{b}{x}\right)^2 + c\right]^{-\rho-1} dx = \frac{\sqrt{\pi}}{(4ab + c)^{\rho+\frac{1}{2}}} \frac{\Gamma(\rho + \frac{1}{2})}{\Gamma(\rho + 1)}. \tag{10}$$

The following formulas [9, p. 75] will be required in our investigation.

$$(1 - y)^{a+b-c} {}_2F_1(2a, 2b, 2c; y) = \sum_{r=0}^\infty a_r y^r, \tag{11}$$

and

$${}_2F_1\left(a, b, c + \frac{1}{2}; x\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; x\right) = \sum_{r=0}^\infty \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r x^r. \tag{12}$$

2. Main Results

Theorem 2.1. Let $a > 0, b \geq 0, c + 4ab > 0, \mu_i > 0, \eta \geq 0, \Re(\lambda) + \frac{1}{2} > 0, \Re(\rho + \mu_i e_i) > 0 (i = 1, \dots, r), -\frac{1}{2} < (a - b - c) < \frac{1}{2}$; and $X = \left(ax + \frac{b}{x}\right)^2 + c$ the following formula holds:

$$\begin{aligned} & \int_0^\infty X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) \\ & \times S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] H[Z_1 X^{-\eta_1}, \dots, Z_r X^{-\eta_r}] = \frac{\sqrt{\pi}}{2a(4ab + c)^{\lambda+1/2}} \\ & \times \sum_{r=0}^\infty \frac{1}{(4ab + c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab + c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ & \times H_{p+1, q+1; p_1, q_1; \dots; p_r, q_r}^{0, n+1; m_1, n_1; \dots; m_r, n_r} \left[\begin{matrix} \frac{Z_1}{(4ab+c)^{\eta_1}} \\ \vdots \\ \frac{Z_r}{(4ab+c)^{\eta_r}} \end{matrix} \left| \begin{matrix} (-1/2-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r), (a; \alpha'_1, \dots, \alpha'_r)_{1, p_1}, \dots, (c'_j, \gamma'_j)_{1, p_1}, \dots, (c'_j, \gamma'_j)_{1, p_r} \\ (-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r), (b; \beta'_1, \dots, \beta'_r)_{1, q_1}, \dots, (d'_j, \delta'_j)_{1, q_1}, \dots, (d'_j, \delta'_j)_{1, q_r} \end{matrix} \right. \right], \tag{13} \end{aligned}$$

where e_i is defined in (5)

Proof. By virtue of equation (1), (7), (8) and (12), we have the following:

$$\begin{aligned} & \int_0^\infty X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] \\ & \times H[Z_1 X^{-\eta_1}, \dots, Z_r X^{-\eta_r}] dX \\ & = \int_0^\infty X^{-\lambda-1} \sum_{r=0}^\infty \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r x^r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} A_{n_i l_i}(y_i)^{l_i} (X^{-\mu_i})^{l_i} \\ & \times \frac{1}{(2\pi\omega)^r} \int_{\mathcal{L}_1} \dots \int_{\mathcal{L}_r} \psi(\xi_1, \dots, \xi_r) \left\{ \prod_{i=1}^r \phi_i(\xi_i) [Z_i X^{-\eta_i}]^{\xi_i} \right\} d\xi_1 \dots d\xi_r \\ & = \sum_{r=0}^\infty \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} A_{n_i l_i}(y_i)^{l_i} \end{aligned}$$

$$\times \frac{1}{(2\pi\omega)^r} \int_{\mathcal{L}_1} \dots \int_{\mathcal{L}_r} \psi(\xi_1 \dots \xi_r) \left\{ \prod_{i=1}^r \phi_i(\xi_i) [Z_i]^{\xi_i} \right\} d\xi_1 \dots d\xi_r \int_0^\infty X^{-\lambda+r-p-q-1} dX,$$

where $p = \sum_{i=1}^k \mu_i l_i$ and $q = \sum_{i=1}^k \eta_i \xi_i$

$$\begin{aligned} &= \sum_{r=0}^\infty \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} A_{n_i l_i}(y_i)^{l_i} \frac{1}{(2\pi\omega)^r} \int_{\mathcal{L}_1} \dots \int_{\mathcal{L}_r} \psi(\xi_1, \dots, \xi_r) \\ &\times \left\{ \prod_{i=1}^r \phi_i(\xi_i) [Z_i]^{\xi_i} \right\} d\xi_1 \dots d\xi_r \frac{\sqrt{\pi}}{2a(4ab+c)^{\lambda-r+p+q+1/2}} \frac{\Gamma(\lambda-r+p+q+1/2)}{\Gamma(1+\lambda-r+p+q)} \\ &= \frac{\sqrt{\pi}}{2a(4ab+c)^{\lambda+1/2}} \sum_{r=0}^\infty \frac{1}{(4ab+c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \\ &\times \frac{1}{(4ab+c)^p} A_{n_i l_i}(y_i)^{l_i} \frac{1}{(2\pi\omega)^r} \int_{\mathcal{L}_1} \dots \int_{\mathcal{L}_r} \psi(\xi_1, \dots, \xi_r) \left\{ \prod_{i=1}^r \phi_i(\xi_i) [Z_i]^{\xi_i} \right\} d\xi_1 \dots d\xi_r \\ &\times \frac{1}{(4ab+c)^q} \frac{\Gamma(\lambda-r+p+q+1/2)}{\Gamma(1+\lambda-r+p+q)} \\ &= \frac{\sqrt{\pi}}{2a(4ab+c)^{\lambda+1/2}} \sum_{r=0}^\infty \frac{1}{(4ab+c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab+c)^{\sum_{i=1}^k \mu_i l_i}} \\ &\times A_{n_i l_i}(y_i)^{l_i} \frac{1}{(2\pi\omega)^r} \int_{\mathcal{L}_1} \dots \int_{\mathcal{L}_r} \psi(\xi_1, \dots, \xi_r) \left\{ \prod_{i=1}^r \phi_i(\xi_i) \left[\frac{Z_i}{(4ab+c)^{\eta_i}} \right]^{\xi_i} \right\} d\xi_1 \dots d\xi_r \\ &\times \frac{\Gamma(\lambda-r+p+q+1/2)}{\Gamma(1+\lambda-r+p+q)} \\ &= \frac{\sqrt{\pi}}{2a(4ab+c)^{\lambda+1/2}} \sum_{r=0}^\infty \frac{1}{(4ab+c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \\ &\times \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab+c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ &\times H_{p+1, q+1; p_1, q_1, \dots, p_r, q_r}^{0, n+1; m_1, n_1, \dots, m_r, n_r} \left[\begin{matrix} \frac{Z_1}{(4ab+c)^{\eta_1}} \\ \vdots \\ \frac{Z_r}{(4ab+c)^{\eta_r}} \end{matrix} \left| \begin{matrix} (-1/2-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r), (a_j; \alpha'_j, \dots, \alpha_j^{(r)})_{1,p}, (c'_j; \gamma'_j)_{1,p_1}, \dots, (c_j^{(r)}; \gamma_j^{(r)})_{1,p_r} \\ (-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r), (b_j; \beta'_j, \dots, \beta_j^{(r)})_{1,q}, (d'_j; \delta'_j)_{1,q_1}, \dots, (d_j^{(r)}; \delta_j^{(r)})_{1,q_r} \end{matrix} \right. \right]. \end{aligned}$$

□

This completes the proof of Theorem 2.1.

If we set $n = p = q = 0$ then by virtue of the identity (6), we obtain

Corollary 2.2. If $a \geq 0; b > 0; c + 4ab > 0$ and $\mu_i > 0, \eta \geq 0, \Re(\lambda) + \frac{1}{2} > 0, \Re(\rho + \mu_i e_i) > 0 (i = 1, \dots, r)$ and $-\frac{1}{2} < (a - b - c) < \frac{1}{2}$ and $X = \left(ax + \frac{b}{x}\right)^2 + c$ then there holds the following result:

$$\begin{aligned} & \int_0^\infty X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] \\ & \times \prod_{i=1}^r H_{p_i, q_i}^{m_i, n_i} \left[Z_i X^{-\eta_i} \left| \begin{matrix} (c_j^{(i)}, \gamma_j^{(i)})_{1, p_i} \\ (d_j^{(i)}, \delta_j^{(i)})_{1, q_i} \end{matrix} \right. \right] \\ & = \frac{\sqrt{\pi}}{2a(4ab + c)^{\lambda+1/2}} \sum_{r=0}^\infty \frac{1}{(4ab + c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \\ & \times \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab + c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ & \times H_{1, 1; p_1, q_1; \dots; p_r, q_r}^{0, 1; m_1, n_1; \dots; m_r, n_r} \left[\frac{Z_i}{(4ab + c)^{\eta_i}} \left| \begin{matrix} (-1/2 - \lambda + r - \sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r); (c_j', \gamma_j')_{1, p_1}; \dots; (c_j^{(r)}, \gamma_j^{(r)})_{1, p_r} \\ (-\lambda + r - \sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r); (d_j', \delta_j')_{1, q_1}; \dots; (d_j^{(r)}, \delta_j^{(r)})_{1, q_r} \end{matrix} \right. \right]. \end{aligned} \tag{14}$$

where e_i is defined in (5).

Following a similar procedure the following Theorem 2.3 and 2.5 can be proved.

Theorem 2.3. Let $a \geq 0, b > 0, c + 4ab > 0, \mu_i > 0, \eta \geq 0, \Re(\lambda) + \frac{1}{2} > 0, \Re(\rho + \mu_i e_i) > 0 (i = 1, \dots, r), -\frac{1}{2} < (a - b - c) < \frac{1}{2}$; and $X = \left(ax + \frac{b}{x}\right)^2 + c$ the following formula holds:

$$\begin{aligned} & \int_0^\infty \frac{1}{x^2} X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) \\ & \times S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] H[Z_1 X^{-\eta_1}, \dots, Z_r X^{-\eta_r}] = \frac{\sqrt{\pi}}{2b(4ab + c)^{\lambda+1/2}} \\ & \times \sum_{r=0}^\infty \frac{1}{(4ab + c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab + c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ & \times H_{p+1, q+1; p_1, q_1; \dots; p_r, q_r}^{0, n+1; m_1, n_1; \dots; m_r, n_r} \left[\frac{Z_i}{(4ab + c)^{\eta_i}} \left| \begin{matrix} (-1/2 - \lambda + r - \sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r); (a_j \alpha_j', \dots, \alpha_j^{(r)})_{1, p}; (c_j', \gamma_j')_{1, p_1}; \dots; (c_j^{(r)}, \gamma_j^{(r)})_{1, p_r} \\ (-\lambda + r - \sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r); (b_j \beta_j', \dots, \beta_j^{(r)})_{1, q}; (d_j', \delta_j')_{1, q_1}; \dots; (d_j^{(r)}, \delta_j^{(r)})_{1, q_r} \end{matrix} \right. \right]. \end{aligned} \tag{15}$$

If we set $n = p = q = 0$ then by virtue of the identity (6), then we obtain the following:

Corollary 2.4. If $a \geq 0; b > 0; c + 4ab > 0$ and $\mu_i > 0, \eta \geq 0, \Re(\lambda) + \frac{1}{2} > 0, \Re(\rho + \mu_i e_i) > 0 (i = 1, \dots, r)$ and

$-\frac{1}{2} < (a - b - c) < \frac{1}{2}$ and $X = \left(ax + \frac{b}{x}\right)^2 + c$ then there holds the following result:

$$\begin{aligned} & \int_0^\infty \frac{1}{x^2} X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] \\ & \times \prod_{i=1}^r H_{p_i, q_i}^{m_i, n_i} \left[Z_i X^{-\eta_i} \left| \begin{matrix} (c_j^{(i)}, \gamma_j^{(i)})_{1, p_i} \\ (d_j^{(i)}, \delta_j^{(i)})_{1, q_i} \end{matrix} \right. \right] \\ & = \frac{\sqrt{\pi}}{2b(4ab+c)^{\lambda+1/2}} \sum_{r=0}^\infty \frac{1}{(4ab+c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \\ & \times \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab+c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ & \times H_{1, 1; p_1, q_1; \dots; p_r, q_r}^{0, 1; m_1, n_1; \dots; m_r, n_r} \left[\frac{Z_i}{(4ab+c)^{\eta_i}} \left| \begin{matrix} (-1/2-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r): (c_j' \gamma_j')_{1, p_1}; \dots; (c_j^{(r)} \gamma_j^{(r)})_{1, p_r} \\ (-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r): (d_j' \delta_j')_{1, q_1}; \dots; (d_j^{(r)} \delta_j^{(r)})_{1, q_r} \end{matrix} \right. \right]. \end{aligned} \tag{16}$$

Theorem 2.5. Let $a > 0, b > 0, c + 4ab > 0, \mu_i > 0, \eta \geq 0, \Re(\lambda) + \frac{1}{2} > 0, \Re(\rho + \mu_i e_i) > 0 (i = 1, \dots, r), -\frac{1}{2} < (a - b - c) < \frac{1}{2}$; and $X = \left(ax + \frac{b}{x}\right)^2 + c$ the following formula holds:

$$\begin{aligned} & \int_0^\infty \left(a + \frac{b}{x^2}\right) X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) \\ & \times S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] H[Z_1 X^{-\eta_1}, \dots, Z_r X^{-\eta_r}] = \frac{\sqrt{\pi}}{(4ab+c)^{\lambda+1/2}} \\ & \times \sum_{r=0}^\infty \frac{1}{(4ab+c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab+c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ & \times H_{p+1, q+1; p_1, q_1; \dots; p_r, q_r}^{0, n+1; m_1, n_1; \dots; m_r, n_r} \left[\frac{Z_1}{(4ab+c)^{\eta_1}} \left| \begin{matrix} (-1/2-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r): (a_j; \alpha_j', \dots, \alpha_j^{(r)})_{1, p}; (c_j' \gamma_j')_{1, p_1}; \dots; (c_j^{(r)} \gamma_j^{(r)})_{1, p_r} \\ (-\lambda+r-\sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r): (b_j; \beta_j', \dots, \beta_j^{(r)})_{1, q}; (d_j' \delta_j')_{1, q_1}; \dots; (d_j^{(r)} \delta_j^{(r)})_{1, q_r} \end{matrix} \right. \right], \end{aligned} \tag{17}$$

where e_i is defined in (5)

If we set $n = p = q = 0$ then by virtue of the identity (6), we obtain

Corollary 2.6. If $a > 0; b > 0; c + 4ab > 0$ and $\mu_i > 0, \eta \geq 0, \Re(\lambda) + \frac{1}{2} > 0, \Re(\rho + \mu_i e_i) > 0 (i = 1, \dots, r)$ and

$-\frac{1}{2} < (a - b - c) < \frac{1}{2}$ and $X = \left(ax + \frac{b}{x}\right)^2 + c$ then there holds

$$\begin{aligned} & \int_0^\infty \left(a + \frac{b}{x^2}\right) X^{-\lambda-1} {}_2F_1\left(a, b, c + \frac{1}{2}; X\right) {}_2F_1\left(c - a, c - b, c + \frac{1}{2}; X\right) \\ & \times S_{n_1, \dots, n_r}^{m_1, \dots, m_r} \left[\prod_{i=1}^k y_i X^{-\mu_i} \right] \prod_{i=1}^r H_{p_i, q_i}^{m_i, n_i} \left[Z_i X^{-\eta_i} \left| \begin{matrix} (c_j^{(i)}, \gamma_j^{(i)})_{1, p_i} \\ (d_j^{(i)}, \delta_j^{(i)})_{1, q_i} \end{matrix} \right. \right] \\ & = \frac{\sqrt{\pi}}{(4ab + c)^{\lambda+1/2}} \sum_{r=0}^\infty \frac{1}{(4ab + c)^{-r}} \frac{(c)_r}{\left(c + \frac{1}{2}\right)_r} a_r \\ & \times \sum_{l_1=0}^{[n_1/m_1]} \dots \sum_{l_k=0}^{[n_k/m_k]} \prod_{i=1}^k \frac{(-n_i)_{m_i l_i}}{l_i!} \frac{1}{(4ab + c)^{\sum_{i=1}^k \mu_i l_i}} A_{n_i l_i}(y_i)^{l_i} \\ & \times H_{1, 1; p_1, q_1; \dots; p_r, q_r}^{0, 1; m_1, n_1; \dots; m_r, n_r} \left[\frac{Z_i}{(4ab + c)^{\eta_i}} \left| \begin{matrix} (-1/2 - \lambda + r - \sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r): (c_j^{(r)}, \gamma_j^{(r)})_{1, p_r} \\ (-\lambda + r - \sum_{i=1}^s \mu_i l_i; \eta_1, \dots, \eta_r): (d_j^{(r)}, \delta_j^{(r)})_{1, q_r} \end{matrix} \right. \right], \end{aligned} \tag{18}$$

where e_i is defined in (5).

Remark 2.7. If we further take $r = 1$ in Corollaries 2.2, 2.4 and 2.6, then we can easily obtain the results in term of single H -function.

3. Conclusion

In the present paper we investigate the generalized fractional calculus involving definite integrals of Gradshteyn-Ryzhik of the Multivariable H -function. We can also obtain the number of special functions as the special cases of our main results, which are related with Multivariable H -function.

Acknowledgements

One of the author (Jitendra Daiya) is grateful to NBHM (National Board of Higher Mathematics) for granting a Post-Doctoral Fellowship.

References

- [1] D. Kumar and J. Daiya, Generalized fractional differentiation of the \overline{H} -function involving general class of polynomials, Int. J. Pure Appl. Sci. Technol. 16(1) (2013) 42–53.
- [2] D. Kumar and J. Daiya, Fractional calculus pertaining to generalized functions H -functions, Global Journal of Science Frontier Research: F Mathematics and Decision Sciences 14(3) (2014) 25–36.
- [3] M.I. Qureshi, K.A. Quraishi and R. Pal, Some definite integrals of Gradshteyn-Ryzhik and other integrals, Glo. J. Sci. Fron. Res. 11(4) (2011) 75–80.
- [4] J. Ram and D. Kumar, Generalized fractional integration involving Appell hypergeometric of the product of two H -functions, Vijanana Prishad Anusandhan Patrika 54(3) (2011) 33–43.
- [5] M. Saigo and R.K. Saxena, Unified fractional integral formulas for the multivariable H -function III, J. Fract. Calc. 20 (2001) 45–68.
- [6] M. Saigo, R.K. Saxena and J. Ram, Fractional Integration of the product of F_3 and multivariable H -function, J. Fract. Calc. 27 (2005) 31–42.
- [7] R.K. Saxena, J. Ram and J. Daiya, Fractional integration of the multivariable H -function via pathway operator, Ganita Sandesh 25(1) (2011) 1–12.
- [8] R.K. Saxena, J. Ram and D. Kumar, Generalized fractional integration of the product of Bessel functions of the first kind, Proceeding of the 9th Annual Conference, SSFA 9 (2010), 15–27.
- [9] L.J. Slater, Generalized Hypergeometric functions, Cambridge University Press, (1966).
- [10] H.M. Srivastava, A multilinear generating function for the Konhauser sets of biorthogonal polynomials suggested by the Laguerre polynomials, Pacific J. Math. 117 (1985) 183–191.
- [11] H.M. Srivastava, K.C. Gupta and S.P. Goyal, The H -Functions of One and Two Variables with Applications, South Asian Publishers, New Delhi, 1982.

- [12] H.M. Srivastava and R. Panda, Some bilateral generating functions for a class of generalized hypergeometric polynomials, *J. Reine Angew. Math.* 283/284 (1976) 265–274.
- [13] H.M. Srivastava and R. Panda, Some expansion theorems and the generating relations for the H -function of several complex variables, II *Comment. Math Univ. St. Paul* 25(2) (1976) 167–197.